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One who hires - TIINRNT BY 270 2572 1 PIRING DR DI ((hwh)
craftsmen and they retracted; they are at a disadvantage

Overview

The 71wn stated regarding one who hired craftsmen; that if they retracted, they are
at a disadvantage, and if the employer retracted, he is at a disadvantage. n1v01n
discusses the details how each party may be at a disadvantage.

=8N YOO MUY PNYY N1 NIYI 2199210 NN 198D DIYID 2V NEPY NNP 1YaP ONY
That if the workers accepted contractually to harvest a field of standing grain for
two 2°v%0, and they cut half of the ficld and the price [of workers] increased, so

that the remaining work of half a ficld cost a ¥%% and a half (instead of one ¥0) -
- 5)WUN O8N NEPY SEMY YHO NNY TIVYY 395 YHU SN P BNY 1N XY DM 19N

And the workers retracted (they did not want to harvest the remaining half a field),
the employer does not have to give them but half a g, since he will need to pay
a Yoo and a half to harvest the remaining second half -

= 307 9295 19N
And this is like the ruling of 827 '.

MooIN continues citing the 7Iwn:
= DNHNNN HY 1717 12 AN %3N Hya ON)

And if the employer retracted (he does not want these people to finish the job,

which he hired them for two 2°v70), he is at a disadvantage. This concludes the m1wn -
- %27 5P 12 9N YPY RIN 58NN NIV PR PIID 1910 BN “DIVIPa YW

>""w4 explains this latter case; if the price of workers decreased, and the remaining

half of the work costs only a >pw (half a ¥90) and the employer retracted -
= 599587 199XV N8’ YOO N YNNAY 29D K8NY YOO DNY 1N

He pays the first workers a ¥»0 and a half, since he can find workers who will
complete his harvest for half a ¥%%.

N190IN comments on this °"w9o:

! This mooin is referencing the 73wn on 2,7y (on the very bottom).
2 The n"a7 mixT amends this to read mwy 2°2910 1973 (instead of MW 1PI)
3 See later on 2,W.
4 o1 7"72 R, W. The explanation of the first part of the mwn (where o°3197 117) is also according to o7 7"7 2,7y *"wA.
See ‘Thinking it over’.
5> Additionally, if he pays them only a ¥90, they will at best only be able to receive a half v70 if they find work for the
remainder of the day, so they will lose half a ¥50 through no fault of their own. See X"av".
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= S99 19PINYWI NNNNNN DY 11T WD NN XD
And ""v1 did not want to explain that 7330707 5 17 in a case where the workers

became more expensive and the 7nnnna %y 2"7wa T would mean -
- TPWaY VY 119 WYY SN Y S8NY Y90 BN 1N

That the employer should give them a >2m p»o for the half which they did, as it

is worth now (after the workers became more expensive). The reason >"w7 does not say this is -
= 0NNY NINNY NNN 9N N°AN J¥a DAY IN° NNIY 3 XI2D NT PRY

For this is not logical; for why should the 2'"77v2 pay them more than which he

stipulated (which is two °v70 for the entire field; so one ¥70 for half the field) -
= 0199 99 NATIN) %21 HYa NN PO PRY 1195

Since the workers are not really losing (that much) with the retraction of the

2'"7va, and on the contrary they are probably gaining by it -
= Y90 ON 9 DAY 1M NP KD NINY NNP I8N NEPY I8N YOO DAY 1Y INNN? NNYY

Since now (with the increase in wages) they may be able to find someone who will
pay them >3m %o to harvest half a field of standing grain, but their previous

employer would have only given them a $%o for the same job. Therefore since the workers
may be gaining by this firing, there is no need for the owner to pay them the current wage, even
though nnnnni 5y 7.

nvoIN asks:
- DOYYD 7299105 DN 19339 IN 5913 AN (1 91 YIPY VINT TNIND ON)

And if you will say; when the X723 states later; ‘the master said, ‘or they can

finish their work and they will receive two 2°¥%8°’; the xm3 asks -
- 10955119 1M 17’21 T 99N INNTAY DTT XDMN XD NOIVS

‘It is obvious’ that if they finish the work they will receive two 2°¥70; the X3
answers; it is only necessary to teach this ruling in a case where the work became

cheaper and the owner retracted, and the workers appeased him to let them finish

the work. This concludes the citation from the Xa13. n1dOIN asks -
= MAND1A HHAY Hrawa N AN Yy N HNY ROV

¢ Now the whole job is worth three 2°¥20 (and half the job is a ¥20 and a half). The advantage of this vwd would be
that the 701N %Y 17° in both cases, would be in the same manner where 2°2¥19 17917 For an additional advantage see
later footnote # 11.
7 See footnote # 6.
8 This is referencing the view of X217 1 (on 2,) in a case where they were offered two o°v20 (eight 2™2°7) for a day’s
work, and they only did half and retracted, but now the remaining work is worth six 2°71°7; he pays them only two
o127 (half a ¥90), or they can finish working and will receive the two o°v70.
% The remaining work can be found for two 2717 (half a ¥70).
19 We could have thought that he only agreed to hire them if they would agree to a lower wage, therefore X017 1 teaches
us that they only agreed for the previous wage but they will do a quality job.
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But now!! why should the 2'"77v3 retract, because the work became cheaper -
- YUYW N HY I8N YO DAY IIY T8 XYN NTHA NN IN

What is he gaining by his retraction, would he not be obligated to pay them a

p>o and a half for what they did -
- 12055 D109 PPRY 1192 19299 N1IY 50 DN

And also regarding the workers, why are they appeasing the 2"77v2 to rehire them,
since they are not losing anything?!

NID0IN answers:
= D12 NVLVP NNPHY NNIY NNNN NN NXAN DYAT 91290 YN

And one can say that the 2'"17va retracted because of hatred on account of a

dispute between them, but not for financial gain (for there is none).
$99WNY DIPN NISNYY WONY 19908 RIW 1099 ©I919)

And the workers appeased him, so they will not need to go search and find a
new place to be hired; it is easier for them to continue work on this job.

Summary
The disadvantage of the one who retracts is that we take into account what is the cost

of finishing the job, if it costs more and the workers retract they lose, if it costs less
and the owner retracts he loses.

Thinking it over

noon explains'® the ruling of 71INAN7 %Y 9310 7° in a case where 09310 1217 (as
"1 explains in the mwn [in the first example]'*). Why did not m»o1n choose to
explain annnnT Y 229310 7 in a case of 2°9¥10 19117 (that they only receive a ¥50 and
not “Xm ¥90) as >"w1 explains in the second example there?!”

' Now that we say (see text by footnote # 7) that if the 2"7va retracted he has to pay them >¥m ¥90 in this case. [If we
would learn like the w15% 7¥7 X7 (see footnote # 5) and would disagree with >"w19 and we would maintain that if 17117
o°%v19, and the 2"nva retracted he would not pay them >¥m 90 (as "W maintains), but (presumably) only a ¥70, we
can understand why the 27792 is 710 (for he is gaining two 0°71°7) and why the 0°%319 are 0o the 2"11v2 (because they
stand to lose two 0™1°7); however according to *"w79 the difficulty is apparent.]
12 They are receiving the 7% ¥90 and they can hire themselves out for the rest of the day for half a ¥70. So they will
have their full two 0°v%0; why beg the master to rehire them?!
13 See footnote # 4.
14 a7 "7,
15 See 7w ") R"wAAN.
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